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00000000 main() {static int
a[1[4]={3,16,87,65,4,32,11,108,10,25,12,27}. int b[3],1,j,I. for(i=0.i {
|=a[i][0]. for(j=1.j if(a[i][j]=D) I=a[i][j]. b[i]=Il.} printf("\narray
a:\n"). for(i=0.i { for(j=0.j printf("]",a[i][jD. printf("\n").}
printf("\narray b:\n"). for(i=0.1 printf("]",b[i]). printf("\n"). } O O
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0 0O 0O 0O void main() { char st[20],cs[5][20]. int i,j,p. printf("input
country’ s name:\n"). for(i=0.i gets(cs[i]). printf("\n"). for(i=0.i {
p=i.strcpy(st,cs[i]). for(j=i 1.j if(strcmp(cs[j],st) if(p!=i) {



strepy(st,cs[i]). strepy(cs[i],cs[p]). strcpy(cs[p],st). }
puts(cs[i]).}printf("\n"). } O 0O O 0O 0O O O ford O 0O O I getsUd
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